UNIT 2

COMPREHENSION

C.1 Read the extracts and answer the questions :
Now it will be possible ............. unexpected new products. (Page 16)
e What benefit will autofab give us for the first time ? .........ccocevievieininiinineseeeeeeeee
e How will new products be generated through autofab ? ............cccoevieiiiiiiiiiiicecee,
Highly improved autofab ............ to ourselves. (Page 17)
e Mention the common question for ‘Autofab Technology.” ........cccoecuerieiirieiieeeeee,
e In what way will ‘Autofab’ be useful for human beings ? .......ccccoevevievinieieeeeceeeee,
Pranav Mistry, a native of Palanpur ............ said Pranav Mistry. (Page 18)
o Why is ‘Gear’ a futuristic WatCh 7 .......ccviiiiiiiiicee e
e The digital watch is designed DY ......cccocieviieiiieiiieiieiceceee e
Sixth Sense is a wearable .................. interacting with. (Page 19)
e Write about the function of “Sixth Sense’. ........coooiiiiiiiiii e
e What does ‘Sixth Sense’ CONNECt ? ........cooiiiiiiiiiiiiieieie e
‘TeleTouch’ lets you touch ........... from a distance. (Page 18)
o How is TeleTouch USETUl 7 ....oouiiiiiiieee e
o Give an example of “TeleTOUCK’. .....ccooiiiiiiiiee e

C. 2 Join parts from ‘A’ with parts from ‘B’ to form meaningful sentences :
A B

(1) Autofab raises scopes for producers
(2) People will be able to raise the capacity
(3) The consumers will get new models

(4) Autofab machines can reset molecular

(a) structures to produce anything using them.
(b) to fulfil demands of the users.

(¢) from their older models.

(d) to restructure their bodies happily.

C.3 Write short notes :
Automated Technology

Points : a set of technology — designed by computer designs — new products — qualitative products —
recycling —saves enviromnent — advantages for craftsmen — health —a great challenge for us
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Pranav Mistry’s Inventions
* What was Pranav Mistry’s profession ? * What was his first invention ?

* What did he invent about a copy paste system ? *  Whatis ‘Sunflower’ ?

C. 4 Read the stanzas and answer the questions :

We were taken from ........... gauged to fit. (PAGE 20)

e Machines are made from ...........cocceeveriiiniininieniee, AN e
e How are machines Shaped 7 .........coooiiiiiiii i
Though our smoke .........ccccee.. of your brain! (Page 20)

e Why does Rudyard Kipling say, “Stars will shine again™ ? .........ccccceeeeeeveneevieneeeecieeeeeene
e Explain : Our smoke may hide the Heavens from your €yes. .........cccccoevvevierievieniesieseeieennene
e Why does the poet say that the machines are the children of our brain? ............cccceevevenennen.

C. 5 Read the passage and answer the questions : (FLAMINGO : PAGE 12)
As it turned out, Luz broke his past record in doing so, he pushed me on to a peak performance.
I remember that at the instant I landed from my final jump- the one which set the Olympic record
of 26 feet 5% inches, he was at my side. Despite the fact that the entire stadium glared at us
from the stands. Luz shook my hand hard and it wasn’t a fake smile with a broken heart and
artificial sort of grip. You could melt down all the gold medals and cups I have, and they wouldn’t
be plating on the 24 carat friendship I felt for Luz Long at that moment. I realized then too, that
Luz was the epitome of what Pierre de Coubertin, founder of the modern Olympic Games, must
have had in mind when he said, “The important thing in the Olympic Games is not winning but
taking part. The essential thing in life is not conquering but fighting well.”
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(1) What did Coubertin say about the Olympic Games ? .......cccceeveeeerieriienieeiieereecee e

(2) Why does Jesse Owenes call Luz Long the epitome of Olympic Games ? .........ccccceeveeueneee.
(3) What was Luz Long’s response when Owens set a record ? .......ccecevvevieevieenieeneeesieeeeeene
(4) Winning the game is more important than struggling. True or False ? .........ccccoevevivvevieiennnene.
(5) Find out the word which means ‘standard example’. .........ccccooevivieiiiieiiieeniie e
VOCABULARY
V.1 Identify and underline the odd word in each set : (Pair Work)
(1) ratify authorized approve sanction reject
(2) raw uncooked underdone overdone half backed
(3) durability strength longevity fragility long lasting
(4) inspection ignorance observation evaluation survey
(5) risk uncertainty gamble instability safety
(6) manufacturers  builder breaker producer creator
V.2 Answer these questions using the words from the glossary: (Pair Work)
(1) How can the village craft-workers be back from the city ? .......cccceevvvevenennene.
(2) What should I do to make my computer screen very small ? ..........ccccoevveerrennnne.
(3) What can we interact from a distance with ? .........c.ccoevvvevennnen.
(4) What should we call to the construction of robots or computer system ? ...........ccoceeveerevennne.
(5) What will you do to get information from internet ? ..........ccccecoeerverennene.

V.3  Write some of the names of Olympics Games :

Long jump | |

Olympic
Games s‘ | | |
| |

V.4  For each of the words write a sentence that makes its meaning clear : (Homework)
[brief, track, pendant, decay, rejoice, native, sophisticated]

Ex. I have been living in Rajkot since my birth so I can proudly say that Rajkot is my native place.




V.5

V.6

Use the set of words to make an interesting sentence. (FLAMINGO : READ 3)
start — jump Ex.: A chicken started running fast but could not_jump.
J0 LA 2 {01 11T A USRI
line — Doard et e
19 A o1 | AU ST RRPRPRRP
break — rECOTA oo e
TEALIZE — EPILOIMIE  ..uvviieiiiiiieeeiiiee e ettt e e ettt e e e et e e e e e abe e e e e staeeeeessaeeeeenssaeeeenssseeeeessreeas
Match the words with the phrases. (FLAMINGO : READ 4)
Word Phrase
indomitable very impressive
streaming not strong enough for the purpose
persuasion a great success
spectacular making agree to do
scrapped no longer useful
triumph continuous flow
difficult to defeat

LANGUAGE FUNCTION : Comparing People/Places/Things in Relation to Something

Explanation : 6 & dl awz cilsd, a0, dag adledl sU6 dAlssy dasisdl da-dl sal He i

function L GuALdL A1 €.

F. 1

F.2

F.3

Read the explanation of the function and tick mark the sentences which show proper
use of this function:

(1) Ajay is as clever as Maya.

(2) Rutvij runs faster than any other boy.

(3) Amitabh is one of the most famous actors of India.

(4) ‘Autofab’ is a very good set of technology.

(5) The Prime Minister has more liabilities than other ministers.

Find and copy four sentences showing the use of this function from unit 2. (Homework)

Rearrange the words/phrases to form correct sentences: (Pair Work)

(1) faster-father-his-works-Krish-than Krish works faster than his father.

(2) friendly-as-dogs-as-dolphins-are e

(3) professions-nobler-nursing-many-other-iS-than ................ccccoecviiiiiiiiiiie e
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F. 4

F.§

F. 6

F.7

(4) the best-one of-diets-is-milk e
(5) faster-most other-football-games-is than = ...
(6) your house-so large-is-not @s MINE 7 .ooooiiiiiieeiiiee e e e e e e e e erraee s

Underline the errors in the sentences and write the correction in the space provided :
(Pair work)

(1) Sardar debated the more eloquently among all the members of the committee. mosteloquently

(2) Little Tony made the less noise among all the children in the class. ...
(3) She did badly than me in her driving test. L,
(4) I spent the most on food and transport than I did last month. ...
(5) Mr. Ambani worked harder among the partners to build up the business. .........cccccceevveennne
(6) Of all the ministers, he worked better.
Fill in the blanks with the suitable word/phrase given in the box :

(as fast as, better, the best, more awards, longer)

Ishita : No other country performed .............ccone.... than China in the last Asian Games.

Keyur : Yes, China performed very well.

Ishita : You are right but India got ..........cccueneeeee. than Pakistan.

Keyur : Ya, but we are not among top five countries.

Ishita : Our Niraj Chopra is ........ccccccveeevnennn. javelin thrower among all as he won the gold
medal.

Keyur : Right, but Saina Nehwal did not perform as we had expected. She played
.......................... others yet she could not win the gold.

Ishita : Yes. But in triple jump our player jumped ............ccveennennn. than many other players

and won the gold.
Use your idea to complete the sentences using the function ‘comparing’ : (Pair Work)
(1) Pranav is more intelligent than most of engineers.
(2) VETY TEW POCLS oeiieiiiiieeiiiee ettt ettt ettt e et e e e et e e e e ataeeeeabeeeessaaeeesssaeeessssaeeensaeeeansseeennnnes
(3) S@INA PIAYEA ..veiieitiieiiie ettt ettt et et e e et e et e e et e e e tbeeentbeeenbaeeennaeenne
(4) The new textbook of English 1anguage iS .........ccceceeviieiiiiiieniieiieceeceeeee e
(5) THE GANEZA 1S .eeeivvieiiiieiiieeieeeieeeiee et e ette et e et e estteesabeeesseeessaeanseesnseeenseeensseesseensseensseeanseennns
(6) INERA SINES .oiievviieiiiiiie et eete ettt e e ettt e e et e e e esaaeeeesstaeeeessaseeeessssaeeeasssaeeeanssseeeanssaeeeansses
(7) My grandfather Walks ........cccoiiiiiiiiiiiiecee ettt e e e e e eree e
(8) HE SPOKE ..ottt e e e e e et e e e e e aaa e e e e earaaeeeenraaeeeannnes
Respond to the questions using this function: (Homework)

(1) Why didn’t you buy i-phone?
Because i-phone is costlier than other phones.

(2) Why was Kohli selected as ‘the Man of the Match 27 .........ccoooiiiiiiiiice e,

(3) What is your favourite subject ? GIVE I€ASOMNS. .......cceeerureeirrerreerreerireeiteeeseesreessreesseeeseennns
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(4) Who wins the game ? WRhY 2 .....ooiiiiiece et
(5) What are the similarities between your two friends ? .........ccceevievievienininiiecieieseeeeeeeie e
(6) What is your advice to the students of Std. 10 2 .....ccoovviiiiiiiiieiieeeeee e
(7) How is the U.S.A. different from India ? .........ccoeiiiiiiieiiieiieeeceeee e

F. 8 Study the data and prepare a write up on the career of Indian cricketers in about eighty
words using this function :

No. Cricketer Test Matches Played Runs Scored Centuries Made
(1) | Sunil Gavaskar 125 10122 34
(2) | M S Dhoni 90 4876 06
(3) | Rahul Dravid 164 13288 36
(4) | V.VS. Laxman 135 8781 17
(5) | Saurav Ganguly 113 7212 16
(6) | Sachin Tendulkar 200 15921 51
Start like this : Names of some batsmen of India are mentioned in the table. Sachin is best of
ALL DECAUSE ..eiieeiiieiiiii ettt ettt e e ettt e e et e e e e aaa e e e e abaeeesssaeeessaeeeanbaeeeensbaeeearaeeennraeens
WRITING

W.1 A Paragraph is written to describe the picture from the wall of Victoria Park,
Bhavnagar. Strike off irrelevant or false sentences or parts from the paragraph:
(Homework)

Trees are our never failing friends. They provide us food, wood
and shelter. They provide us plastic. Like any good friends,
they suffer miseries (hot sun etc.), but they give us shadow. We
are also their never failing friends. Men cut trees for their selfish
needs. Trees are not dead objects. They feel pain while being
cut or chopped. In this picture, three men are busy with their
axes. They must be woods-lovers. Where shall we take shelter
during hot summer months if all the trees will have been cut ?
We don’t need forests.

17




W. 2 Your favourite pet dog has been missing for three days. Write a description for the T.V.
You can use the following hints :

name - age - size and shape - physical appearance - identification marks

W. 3 Here is a table showing responses of people in a survey. Study it. Ask 5-6 questions
using the cues and answer them as one paragraph. You can repeat the same question
pattern too. (Homework)

How much change on the good side do you see in these Indian Institutions in the last ten years ?
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Questions Answers

(1) What does the X-axis represent ?

(2) What does the Y-axis represent ?

(3) Inwhich area is change seen maximum ?

(4) Which area has the least effect of change ?

(5) Parliament has changed more than Police.

(True or False ?)

(6) Has education become better than before ?

Yes or No ?

(7) How much is the average change ?

Now write the above answers as one paragraph.
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